

בעזרתן של הצגות פולינום

כזו

$$\left(\frac{z-1}{z+1}\right)^3 + \left(\frac{z-1}{z+1}\right)^2 + \left(\frac{z-1}{z+1}\right) + 1 = 0 \quad (*)$$

1) נניח $t = \frac{z-1}{z+1}$. אז $\{t = -1\}$.

$$(**) \quad t^3 + t^2 + t + 1 = 0 \quad \text{אם } t = \frac{z-1}{z+1}$$

2) $z = \frac{t+1}{t-1}$: נניח $t = \frac{z-1}{z+1}$. אז $\{t = -1\}$.
אם $t = -1$, אז $z = \frac{-1+1}{-1-1} = 0$.
אם $t = -1$, אז $z = 0$.

$$(**) \Leftrightarrow (t+1)(t^2+1) = 0 \Leftrightarrow (t+1)(t+i)(t-i) = 0$$

אם $t = -1, i, -i$: אז $z = 0, -i, i$.

אם $t = -1, i, -i$: אז $z = 0, -i, i$.

$$\frac{z-1}{z+1} = -1 \Leftrightarrow z-1 = -(z+1) \Leftrightarrow 2z = 0 \Leftrightarrow z = 0$$

$$\frac{z-1}{z+1} = -i \Leftrightarrow z-1 = -i(z+1) \Leftrightarrow z = -i$$

$$\frac{z-1}{z+1} = i \Leftrightarrow z-1 = i(z+1) \Leftrightarrow z = i$$

אם $t = 0, i, -i$: אז $z = 0, -i, i$.

$$\forall t \in \mathbb{C}, \quad t^3 + t^2 + t + 1 = (t^3 + t^2) + (t+1) \\ = t^2(t+1) + (t+1) \\ = (t^2+1)(t+1)$$

2) $z = \frac{t+1}{t-1}$

אם $t = 1$: אז $z = \frac{1+1}{1-1}$.

$$\forall t \in \mathbb{C}, \quad (t-1)(t^3+t^2+t+1) = t^4 - 1$$

אם $t = 1$: אז $z = \frac{1+1}{1-1}$.

אם $t = 1$: אז $z = \frac{1+1}{1-1}$.

אם $t = 1, i, -1, -i$: אז $z = 0, -i, i, 0$.

אם $t = 1, i, -1, -i$: אז $z = 0, -i, i, 0$.

אם $t = 1, i, -1, -i$: אז $z = 0, -i, i, 0$.